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2 orsze|
= olagEe
crelr DSl 2o (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 3,240
= 4,860
OfIer?] =0ICHIIAIE FH|(EX® S
2l 8,100
& 3,240
= 4,860
018t HEAIA 22| 29,200 40,300 A11,100
201 LEL2AH| 29,200 40,300 A 11,100
01 AF22telb] 2,000 13,100 A 11,100
S0 A 2,000 13,100 A 11,100
OZBAN4E 829 A2 ¢ 2,000
2 3324l 27,200 27,200
=0 A 27,200 27,200
OEEANE KAEL 29| 20,000
OdBAE 29 B22R=
600,000 122 7,200
018t HIAZHAIE 22| 24,000 30,000 26,000
201 LBt AY| 9,000 10,000 A 1,000
01 AtR2teld| 9,000 10,000 A 1,000
S0 A 9,000 10,000 A 1,000
O-lAZ24AE ABE WH 2 42|
1,500,000 & *6H A~ 9,000
401 Al&HILL0HY| 15,000 20,000 25,000
01 Al&H] 15,000 20,000 A5,000
S0 A 15,000 20,000 /5,000
Odl7 018t HlaZS=AIE(10HA) 15,000
=23 EdA F4A 6,260 2,000 4,260
201 LB AH| 6,260 2,000 4,260
01 AtR2teldl 6,260 2,000 4,260
=0 A 6,260 2,000 4,260
OEEE(2IEx) HX 1,000 5002 500
O&d S8t M= 60,0002 100K 600
ONEE HI& 100,000 = 100H 1,000
O=sRe=d Atztal 221 2|
8,000& *30H x9A! 2,160
OSRHEMN HZE 10,000& 2005 2,000
SXNHs =& 6,316 8,316 A2,000
201 LEt2AH| 5,260 7,260 A2,000
01 AtR2teld| 5,260 7,260 22,000
=0 A 5,260 7,260 A2,000
O EHErK| & 100, 000 & *8IH 800
OEEZ H& 100, 000& *5JH 500
OatEtAl2d ZEHH| 8,000 *»45H 114! 3,960
301 YEBXEZ 1,056 1,056
11 SHAIAHIXIR 2 1,056 1,056




SN o RRI Dt
= olagEe
o2l plERIlf 2% (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
S0 & 1,056 1,056 0
OSXAHE I SAIEA
8,000 * 12+ 114 1,056
olidl= S4XI& 92,000 92,230 A230
308 AtXIEHHISO0IA 30,000 32,000 A2,000
10 GiBIZ2SEXNAZLEX 30,000 32,000 A2,000
=0 & 30,000 32,000 A2,000
Osgg=Igs 29 12,000
Ouldl= 22 XI& 18,000
403 XXM SK=201H 62,000 60,230 1,770
03 ollHlIZsS&XNAN=EE 62,000 60,230 1,770
S0 &t 62,000 60,230 1,770
oudl=2 nesd Xd 25,200
Oooulglz =& X 36,800
AIRISERE 2t 348,477 165,699 182,778
301 LetEEZ 348,477 165,699 182,778
10 Al =RQRBAS 348,477 165,699 182,778
20 & 348,477 165,699 182,778
O=10 280,800
—48&330 1,000,000&*17H x12& 204,000
—&E20 800,000 x8H = 12& 76,800
OXat/thiat BA2 &8s 3,200
— Mo EE= 20,000 80 1,600
—&0iiA B2 20,0002 80 1,600
OSAH| 8,000 x25% 20+ 123 48,000
(@MME=1z] 2,000 x25H x202 « 12& 12,000
@] 309,600 x8H 2,477
OAIZI=R2 3 2t 3 500,000& *43] 2,000
LA FA 40,200 30,200 10,000
olgAUly s XA 40,200 30,200 10,000
301 Let8dZ 40,200 30,200 10,000
05 2Z2A LKA ZH| 40,200 30,200 10,000
20 & 40,200 30,200 10,000
Oxtds A9l ZAUS
30,0002 340 10,200
Oga= 48| JAHUE
800,000 *25JH CH 20,000
O2AE LU & JIE&#HA K&
200,000 *25JH CH 5,000
Od=z2dgagl XA 5,000
sty =3 44,900 22,200 22,700
& 7,200
= 37,700
A=dgdgs s X3 37,700 15,000 22,700




S oEBR
g olgke(ac
&t UAsedy =& (EEREE]
: 5 oy R .
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
301 et2dS 17,700 15,000 2,700
06 A=K 17,700 15,000 2,700
=0l &t 17,700 15,000 2,700
Ogg s =2t A=
400,000 * 122 4,800
Oogg s tE=Abl
1,000,000 7CH 7,000
OgHEHl 7 (EHS, 28 8) 1,100
Ozt 4,0002 x50 22|« 12 4,800
401 AlEHIZL SO 20,000 20,000
01 Al&HI 20,000 20,000
=0l &t 20,000 20,000
Odig LA HES 20,000
egyass gs XJ(8X) 7,200 7,200 0
= 7,200
301 et2dS 7,200 7,200 0
= 7,200
06 A=2EUAHIXIA 7,200 7,200 0
[ 7,200
=0l & 7,200 7,200 0
S 7,200
Odctgtsgdgags 225 N
45,0002 160 7,200
S 7,200
Htohoe & Ss52435t 6,702,000 6,284,000 418,000
[ 5,101,000
e 1,601,000
Mol IS X+ A 6,702,000 6,284,000 418,000
s 5,101,000
o 1,601,000
KATHHA NS X FHI(SHAEK ) 1,260,000 200,000 1,060,000
[ 630,000
s 630,000
401 AlEHIZL O] 1,260,000 200,000 1,060,000
[ 630,000
[ia 630,000
01 Al&dl 855,464 200,000 655,464
[ 430,000
e 425,464
=0l &t 855,464 200,000 655,464
[ 430,000
s 425,464
Ostet THA Mol SIS X+ EHIA 855,464
[ 430,000




o orM 2| ot

©OTHERAHGHOIR R =2

s8dst
o Mol RIEX+ ALY

(Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 425,464
02 Zeldl 400,000 0 400,000
s 200,000
= 200,000
S04 & 400,000 0 400,000
= 200,000
= 200,000
Ostatb THATHOHRIE NS X7 EHIALS
fg2e|2d 400,000
s 200,000
= 200,000
03 A28 4,536 4,536
S0 &t 4,536 4,536
Ostat THATHOHRIZOH A X7 ZHIALS
1,260,000,000& *0.36% 4,536
AT AE ML X HE(HEKF) 320,000 1,000,000 A680,000
= 160,000
= 160,000
401 AIEHIL 20| 320,000 1,000,000 A680,000
iy 160,000
= 160,000
01 A&l 217,696 993,700 ATT76,004
= 60,000
o 157,696
S0 &t 217,696 993,700 AT76,004
sy 60,000
= 157,696
OY s MAMNRAEINEX T EEIAS 217,696
s 60,000
= 157,696
02 Z2ldl 100,000 0 100,000
= 100,000
204 & 100,000 0 100,000
s 100,000
OE% NATMHRIENSXI 7 SHIAIS
2| s 100,000
= 100,000
03 A28 2,304 6,300 A3,996
S0 &t 2,304 6,300 3,96
S5 NATHHAEINAR T HHIAIS
320,000,000& *0.72% 2,304
THATHOH I E NS X7 UL EXF) 780,000 200,000 580,000
= 780,000
401 AIEBIZ U] 780,000 200,000 580,000
ax 780,000




=N

X ZH -
o=

QrM 2t | 1t
Mooy & S35
Mol I X+ HHIAE

Rl

chel: (e &3
S - BB BR(31) - NSAY - BES S SR b=
01 Al&H| 675,086 198,560 476,526
= 675,086
20 & 675,086 198,560 476,526
= 675,086
Og& NAMMNRIEINSE X T EIAIS 675,086
= 675,086
02 Zclbl 100,000 0 100,000
= 100,000
S0j &t 100,000 0 100,000
s 100,000
Ogz NATHHRIENAXIT SHlArY
Argz2e|E2d 100,000
= 100,000
03 Al 2CHYI 4,914 1,440 3,474
ax 4,914
=0 A 4,914 1,440 3,474
iy 4,914
OLE TSI BN AT Zl ALY
780,000,000& *0.63% 4,914
= 4,914
KHATHOHRIE M X ™I (0HAKIF?) 650,000 200,000 450,000
= 650,000
401 AIEBIZS2UiYI 650,000 200,000 450,000
= 650,000
01 Al&H| 645,905 198,560 447,345
= 645,905
20i & 645,905 198,560 447,345
= 645,905
OOH&E RtATHOHRIE NS X7 EHIAS 645,905
s 645,905
03 A&t 4,095 1,440 2,655
s 4,095
S0 &t 4,005 1,440 2,655
s 4,095
OaH THATHHRIEIN AR 7 EHIALS
650,000,000 *0.63% 4,095
ax 4,095
HEXF SrolMEd SEEUIALG 2,070,000 2,000,000 70,000
= 2,070,000
401 AIEHIL 20| 2,070,000 2,000,000 70,000
= 2,070,000
01 AlI&HI 1,562,548 1,992,800 A430,252
ax 1,562,548
=0 A 1,562,548 1,992,800 A430,252




S kel
=2 s o =

s82%
Rl Mol /IZX7 ZHIALE

(el me
SA - EH - CR(B) - NRAY - BaS S SR RS2
= 1,562,548
OBAXT7 ExoiMa SeEUAIY 1,562,548
= 1,562,548
02 2feldl 500,000 0 500,000
= 500,000
20 & 500,000 0 500,000
= 500,000
OBAXF SroiMad SeEUIAIY
2|2y 500,000
= 500,000
03 Al 20HYI 7,452 7,200 252
s 7,452
=0 A 7,452 7,200 252
s 7,452
OBAXT EroiMad SEUIAIY
2,070,000,000& *0.36% 7,452
= 7,452
AT EMA X HBI(PLXF) 1,272,000 0 1,272,000
= 636,000
= 636,000
401 AIEHIYLL20HH| 1,272,000 0 1,272,000
= 636,000
= 636,000
01 Al&H| 1,267,420 0 1,267,420
= 636,000
= 631,420
S0 & 1,267,420 0 1,267,420
= 636,000
= 631,420
O7Y NATHHRIENAXI 7 SHIAIS 1,267,420
s 636,000
= 631,420
03 A& S0HYI 4,580 4,580
20 & 4,580 4,530
O7 MAMAMNRAEMNSE X7 HBIAIS
1,272,000,000& 0. 36% 4,580
AQIE A= 2tel AIAE AX|(50HA) 350,000 0 350,000
= 175,000
= 175,000
401 AIEBIZLL204H| 350,000 0 350,000
= 175,000
= 175,000
01 Al&H| 350,000 0 350,000
= 175,000




A erdZe| 1t

S THHMoHo Y & SRS 23t
©l: Mol |IEX+7 A (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2

= 175,000

=0 A 350,000 0 350,000
s 175,000
= 175,000
OALIE HE 22lAAE 2=(500A) 350,000
= 175,000
= 175,000

ot &l 10,953,271 8,427,550 2,525,721
£ 760,000
& 580,000
= 9,613,271

ot& ZHIAY 10,953,271 8,427,550 2,525,721
£ 760,000
= 580,000
o 9,613,271

Ot Al AL 1,871,714 2,358,460 A486,746

401 AIEHIZL 0L 1,871,714 2,358,460 ANA86,746

01 A&l 1,865,000 2,350,000 A485,000

S0 &t 1,865,000 2,350,000 A485,000
O0l=gX 24| 150,000
OBt AlE 22l 50,000
OMHAEAIE & JIEIAAE JHE= 50,000
OMNKAE LBt AIEAIS 80,000
Ot MeEez ¥ E5E2 IH 50,000
og& 1S8d Fl 50,000
OYaxg ORIE HE2 80,000
Ot EAHE Fl 90,000
O=s= Jtstd Fl 90,000
ORY QA HdSHIHS 150,000
OB I&d Fl 25,000
OoRg ZAA FH| 50,000
O=Z 228 Mg =& 50,000
OzZAN sEd FH2 &X 95,000
O=d £24d Mg &l 90,000
O=g T&A& MY &yl 80,000
Ogd HER Jl 50,000
Og4d t=a FHl 100,000
ogsd SEsd J4l 90,000
Ootd Mg =A L& 300,000
OA5IEAY| SEHE(HY) 89 95,000

03 Al =CHYI 6,714 8,460 A1,746

20 & 6,714 8,460 A1,746




S orERR|
H: otA Y|
el S EHIAY (Eel &S
; ot R -
SA - FH - SR(3) - NRA - BES S N imE=]
Ovotd AlZA 20
1,865,000, 0002 *0. 36% 6,714
otd sXlZel 677,557 899,090 A221,533
201 Let2d| 77,557 79,090 A1,533
01 At22telH 68,650 69,200 550
=0l At 68,650 69,200 A550
OsIEg8=++= 15,0002 x4002 X| 6,000
Ootd =SHH HEIYXZ(HM=IILE)
605,000 *30CH 18,150
OMiSSE7 L AHEEX HHILXZ(
WS, go) 605,000 *60CH 36,300
Ootd SR A=, H= S
8,000 x5 »80 3,200
OotdAIEE ¥ &Hl |X2el =3 2,000
Octd=gdel 202 HAlH
500,000 *6IH 2 3,000
2 323l 8,907 9,890 A983
=0l &t 8,907 9,890 A\983
OdJl|, Stles 2,000
OotdFAIE 2elxed H=H|
1,84024%113 £ x 12042 2,508
Ootdze| Hb| dzH|(2==I], JIAHS)
(1,8492%100 £ #1023 )+(1,5502 100 £ {1|()) 3,399
=l
Ostaziel #dl sX2eldl(2+D], I
HS) 1,000
401 Al HIZL SO 600,000 820,000 220,000
01 A&l 600,000 820,000 /220,000
= [Ry 600,000 820,000 220,000
OXILGHA, A6td &4 & B
20,000,000 * 1574 2 300,000
OXNgstd, 2otd Al2E mAl2c|
10,000,000 * 1091 2~ 100,000
OXlgotd, Aotd Mgz E4|
10,000,000 *200H 2= 200,000
SHEAIEAIE (B X) 600,000 50,000 550,000
S 580,000
o 20,000
401 AlIEHIZ S 0HYI 600,000 50,000 560,000
= 580,000
[Ea 20,000
01 Al&Htl 600,000 50,000 550,000
= 580,000
[ 20,000
=0l &t 600,000 50,000 560,000
= 580,000
o 20,000
OSgH A2l s28 *H 25,000
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PSEENTERS T
&2l oHE ZHIAKY (ct9: &2
S - BB BR(31) - NSAY - BES S SR b=
| | O==4st® =61 2,064,000,0002%0.36% 7,431
A5HE FUI(MGHRIE) (2 HEA) 1,000,000 2,300,000 1,300,000
401 AIEHIL 2] 1,000,000 2,300,000 1,300,000
01 Al 993,700 2,291,720 21,298,020
=oilat 993,700 2,291,720 1,298,020
OLFBIRIABHE HH| 993,700
03 Al = CHH| 6,300 8,280 ~1,980
=04t 6,300 8,280 ~1,980
O/LBIEIABHE FH|
1,000,000, 000210, 63% 6,300
A5HE FUI(MGHRIAE) (SEDRM) 1,520,000 0 1,520,000
= 760,000
= 760,000
401 AIEBIL20H] 1,520,000 0 1,520,000
= 760,000
= 760,000
01 Al 1,514,508 0 1,514,508
s 760,000
= 754,528
=04t 1,514,508 0 1,514,528
= 760,000
2 754,528
OIBHEIABHE FH| 1,514,528
s 760,000
= 754,528
03 Al = CHH| 5,472 0 5,472
=04t 5,472 0 5,472
OISRl ABHE FH|
1,520,000, 000210, 36% 5,472
A0tE FUI(HEHR)(2 MEAI) 1,300,000 200,000 1,100,000
401 AIZBIL 20| 1,300,000 200,000 1,100,000
01 Al 1,295,320 198,560 1,09, 760
=oilat 1,296,320 198,560 1,096,760
OUiatASHE = 1,295,320
03 Al = CHH| 4,680 1,440 3,240
=04t 4,680 1,440 3,240
OiatAsta ZH| 1,300,000, 00024 0. 36% 4,680
ABHE FUI(ZZH)(2 HEA) 1,000,000 0 1,000,000
401 AlEBIL20H] 1,000,000 0 1,000,000
01 Al 993,700 0 993,700
=04t 993,700 0 993,700
O==245Ha H| 993,700
03 Al = CHH| 6,300 0 6,300
=04t 6,300 0 6,300




2AM:

I‘IiH:

St
SHol: ok EHI A (ol &l
_ - FOH (e FoH -
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